
Q.1 Choose the letters pair from the options 

given below that will come in place of the 

question mark in the following series. 

नीचे दिए गए विकल्पों में से िह अक्षर युग्म चुनें जो 

वनम्नविवित श्रृंििा में प्रश्न वचह्न के स्थान पर ाएगा

(SSC MTS - (02 August 2019) Shift - II) 

KP,      HM,      EJ,         BG,     ? (A)XC

(B) YD 

(C) ZE 

(D) YC



(A)32 

(B) 

30 

(C) 

31 

Q.1 In the morning prayer of a school, Chanchal 

was 8th from the front, while Prince was 11th 

from the back in the same row. If they swap their 

positions, Chanchal becomes 22nd from the 

front. What is the number of students in the row?

एक स्कूि की सुबह की प्राथथना में, चृंचि ागे से 8िें स्थान पर 

था, जबदक प्प्रृंस उसी पृंवि में पीछे से 11िें स्थान पर था। 

यदि िे अपना स्थान बिि िेते हैं, तो चृंचि ागे से 22िें 

स्थान पर हो जाती ह।ै पृंवि में विद्यार्थथयों की सृंख्या दकतनी 

ह?ै

(SSC MTS - (05 

October 2021) Shift - I)
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Q.2 Statements: Some utensils are lamps./ कुछ 

बतथन िैंप हैं ।

All lamps are trees./ सभी िैंप पेड़

हैं।

No tree is branch. / कोई पेड़ 

शािा नहीं ह.ै

Conclusions: I. Some utensils are branches. 

/ कुछ बतथन शािाएँ हैं।

II. Some trees are lamps./ कुछ 

पेड़ िैंप हैं.

III. Some branches are lamps./

कुछ शािाए ँिैंप हैं।

(A Both conclusions I and III 



SSC MTS - (05 August 2019) Shift-III Q.5. Statements: All P are Q. 
Some Q are Z. Some Z are T. Conclusions: I. Some T are P. II. 
Some P are Z. III. No T is Z. (A) Only conclusion II follows. (B) 
Both conclusions II and III follow. (C) Only conclusion I follows 
(D) No conclusion follows.

SSC MTS - (05 

August 2019) Shift-III 

Q.3. Statements: All P are Q. / सभी P, Q 

हैं।

Some Q are Z. / कुछ Q, 

Z हैं।

Some Z are T./ कुछ Z, 

T हैं।

Conclusions: I. Some T are P. /कुछ 

T, P हैं.

II. Some P are Z. /

कुछ P, Z हैं।

III. No T is Z. /कोई T, 



SSC MTS - (05 

August 2019) Shift-III 

Q.4 Statements: Some wood are chairs./ कुछ 

िकड़ी कुर्सथयाँ हैं।

All chairs are mat. / सभी कुर्सथयाँ 

चटाई हैं।

Conclusions: I. Some mat is wood. / कुछ चटाई 

िकड़ी ह.ै

II. Some chairs are wood./ कुछ 

कुर्सथयाँ िकड़ी  हैं।

III. All wood are mats. / सभी िकड़ी 

चटाई हैं।

(A)Both conclusions II and III follow. 



SSC MTS - (05 

August 2019) Shift-III 

Q.5 Statements: All apples are grapes./ सभी 

सेब अृंगूर हैं.

All grapes are berry./ सभी 

अृंगूर बेरी हैं।

Conclusions: I. All apples are berries. / सभी 

सेब बेरी हैं.

II. All grapes are apples./ सभी 

अृंगूर सेब हैं.

(A) Only conclusion I follows 

(B) Either conclusion I or II 

follows. 



SSC MTS (05 

October 2021) Shift-I 

Q.6 Statements: Some Pans are Bottles./ 

कुछ पैन बोतिें हैं।

All Bottles are Mugs. / सभी बोतिें 

मग हैं।

Conclusions: I. All Mugs are Bottles./ सभी 

मग बोतिें हैं।

II. Some Mugs are Pans./ कुछ 

मग पैन हैं।

(A) Neither conclusion I nor II 

follows 

(B) Only conclusion I follows 



SSC MTS (05 

October 2021) Shift-I 

Q.7 Statements: All Cups are Plates./ 

सभी कप प्िेट हैं।

Some Plates are 

Saucers./ कुछ प्िेटें सॉसर हैं।

Conclusions: I. All Plates are Cups./ सभी 

प्िेटें कप हैं।

II. Some Cups are 

Saucers./ कुछ कप सॉसर हैं।

(A) Both conclusions I and 

II follow 

(B) Only conclusion II 



SSC MTS (05 October 

2021) Shift-II 

Q.8 Statements: 1. Some bags are 

covers./ कुछ बैग किर हैं.

2. All sheets are covers. 

/ सभी शीट किर हैं।

Conclusions: I. All covers are sheets./ 

सभी किर शीट हैं।

II. Some bags are sheets.

कुछ बैग शीट हैं।

(A) Only conclusion I follows 

(B) Only conclusion II 

follows



Q.9 Statements: 1. No jungles is trees. / कोई 

जृंगि पेड़ नहीं ह.ै

2. Some trees are long. /

कुछ पेड़ िम्बे हैं.

3. No plants is long. / कोई भी 

पौधे िम्बा नहीं ह.ै

Conclusions: I. Some plants are trees./ कुछ 

पौधे पेड़ हैं.

II. All trees are long./ सभी पेड़ 

िम्बे हैं.

III. Some jungles are long./ कुछ 

जृंगि िम्बे हैं.

(A) None of the conclusions 



Q.10 Select the diagram that correctly depicts 

the relationship between the classes below.

उस ारेि का चयन करें जो नीचे िी गई िगों  के बीच 

सृंबृंध को सही ढृंग से िशाथता है

SSC MTS - (02 

August 2019) Shift-II

Car,     Wood,       Rat / कार, िकड़ी, चूहा



Q.11. From the given options select the Venn 

diagram that best illustrates the relationship 

between the following classes: 

दिए गए विकल्पों में से उस िेन ारेि का चयन करें जो 

वनम्नविवित िगों के बीच सृंबृंध को सिोत्तम रूप से 

िशाथता ह:ै

Furniture,        Chairs,          Beds

फनीचर, कुर्सथयाँ, वबस्तर



Q.12. From the given options select the Venn 

diagram that best illustrates the relationship 

between the following classes: 

दिए गए विकल्पों में से उस िेन ारेि का चयन करें जो 

वनम्नविवित िगों के बीच सृंबृंध को सिोत्तम रूप से 

िशाथता ह:ै

Women,        Lawyers,           Sons

मवहिाएृं, िकीि, बेटे



Q.13. From the given options select the Venn 

diagram that best illustrates the relationship 

between the following classes: 

दिए गए विकल्पों में से उस िेन ारेि का चयन करें जो 

वनम्नविवित िगों के बीच सृंबृंध को सिोत्तम रूप से 

िशाथता ह:ै

Animals,      Mammals,          Goat

पशु, स्तनधारी, बकरी



Q.14. From the given options select the Venn 

diagram that best illustrates the relationship 

between the following classes: 

दिए गए विकल्पों में से उस िेन ारेि का चयन करें जो 

वनम्नविवित िगों के बीच सृंबृंध को सिोत्तम रूप से 

िशाथता ह:ै

Bedroom,     Kitchen,        House

शयनकक्ष, रसोई, घर



Q.15. From the given options select the Venn 

diagram that best illustrates the relationship 

between the following classes: 

दिए गए विकल्पों में से उस िेन ारेि का चयन करें जो 

वनम्नविवित िगों के बीच सृंबृंध को सिोत्तम रूप से 

िशाथता ह:ै

Bulls,           Cows,              Hens

बैि, गाय, मुर्गथयाँ



Thank you


